AppTrackerl: SAP analysis for GPAMs

Oana Andrei

Interpreting the results. For a given data set, a value for K, and inferred
model (either PAM of GPAM), we model check properties for each of the activity
patterns. To aid interpretation of the quantitative results, we order them from
“best” to “worst”, which is greatest to least value for VisitProb and VisitCount
and the least to greatest value for StepCount. We encode the ordering using
colours for maximum five activity patterns thus: blue, purple, , green,
black, ranging from “best” results to “worse” results respectively. If the result
of model checking a reward-based property does not produce a number (due to
state unreachability, or filter satisfying no states, or the iterative method not
converging within 100,000 iterations) this is denoted by “—”.

The unit for the time intervals is days. For simplicity, assume N = 50 for
all time-bounded properties.
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